RE7TAN FHR iKg3 01

1. XRo¥%z ./ OBk i, 10=v102=v100 £%3. (S 155, A5, B35, C #5077 )

1 2 (2 6 3) 7

4) 1 (5) 15 (6) 16

2. 10V5=v102x5=1500 £\»9 k912, KD AVB D% V/C DIFICE XK.
(S#20F, A#35%, B#50F, C#120% )

1 2v2 (2) 32 (3)  3V3

(4)  3v5 (5) 43 6)  5V6
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3. X%z OBEX HIAIE, 10=v102=100 %5, (S5, Af25F, B#358, C #5078 )

1 o (2 5 3) 9

(4) 13 (5) 17 6) 25

4. 105 =102 x 5=+/500 L9 k92, XD AVB D% VC OFIE L.
(SH20F, A#35%, Bis508, CH#15r20% )

(1) 2v3 (2)  3v3 (3)  5V2

(4) 37 (5) 46 6) 5V5
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REFZN FAR KT 01 BRERS

1. XRo¥%z ./ OBk i, 10=v102=v100 £%3. (S 155, A5, B35, C #5077 )

1 2 (2) 6 3) 7
_ 22 — 62 — 72
=+/4 =+/36 =+/49
4) 1 (5) 15 (6) 16
= V112 = V152 =162
v121 V225 v 256

2. 10V5=v102x5=1500 £\»9 k912, KD AVB D% V/C DIFICE XK.
(S#20F, A#35%, B#50F, C#120% )

1) 2v2 (2  3v2 (3)  3V3
— 22 %9 =32 %2 =432 x3
=8 =418 =27
4)  3v5 (5) 43 6)  5V6
=v32x5 =442 x 3 =52 %6
— /45 — /48 — /150
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3. X%z OBEX HIAIE, 10=v102=100 %5, (S5, Af25F, B#358, C #5078 )

(1 o (2) 5 3 9
_ 02 — 52 — 92
(4) 13 (5) 17 6) 25
=1/132 =172 =252
=+/169 =+/289 = /625

4. 105 =102 x 5=+/500 L9 k92, XD AVB D% VC OFIE L.
(SH20F, A#35%, Bis508, CH#15r20% )

(1) 2v3 (2 3vV3 (3)  5V2
=422 x3 =v32x3 =4/52 x 2
=+/12 =27 = /50

(4) 37 (5) 46 6) 5V5
=32 x7 =42 %6 =52 x5
=463 =+/96 =125
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